
Roll and Calculate 
 

With a partner, take it in turns to roll a die and solve a subtraction problem in that column. 
 

Shade the box with your chosen colour. 
 

The player who reaches the top of the most columns first wins! 

65 - 9 = 23 - 6 = 20 - 16 = 54 - 8 = 40 - 17 = 78 - 9 = 

46 -18 = 37 - 8 = 28 - 9 = 67 - 19 = 22 - 9 = 47 - 8 = 

24 - 9 = 56 - 18 = 34 - 5 = 31 - 3 = 26 - 8 = 23 - 7 = 

26 - 17 = 90 - 6 = 43 - 7 = 27 - 8 = 45 - 6 = 66 - 19 = 

32 - 5 = 42 - 17 = 52 - 13 = 92 - 15 = 65 - 19 = 71 - 14 = 

71 - 9 = 33 - 6 = 78 - 9 = 81 - 4 = 24 - 8 = 21 - 6 = 

      


